MATH 1113 – Fall 2003

Practice TEST 2

NAME_______________________________________________________

Directions: Show work and write clearly. Use complete sentences. Correct answers with only partial work may receive only partial credit.

You may NOT use a calculator on this part.

1. Sketch the graph of 
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2. Sketch a graph of 
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3. Sketch a graph of 
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4. Find the quotient and remainder when the first polynomial is divided by the second:


6x4 – 2x3 – 3x2, x – 5

5. Use synthetic division to show that c is a zero of P(x):


P(x) = x4 – 2x2 – 100x – 75, c = 5

6. Evaluate the following without using a calculator:


a. 
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b. 
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7. Find the inverse function and the domain and range of the inverse function:
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8. Find the exact value of each expression:

a. 
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b. 
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MATH 1113 – Fall 2003

Practice TEST 2

NAME_______________________________________________________

Directions: Show work and write clearly. Use complete sentences. Correct answers with only partial work may receive only partial credit. You may use a calculator on this part – explain how you used the calculator as part of your answer.

9. Find all zeros of each function and state the multiplicities:


a. f(x) = 2x4 – 3x3 + 8x2 – 15x – 10

b. P(x) = x4 + 12x2 + 32

10. Find a polynomial P(x) of lowest degree with real coefficients that has the given zeros:


Zeros: i, 3 – 5i
11. Write the following in exponential form:


a.
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b. 
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12. Write the following in logarithm form:


a. 23 = 8




b. 
[image: image14.wmf]3

3

2

100

10

=


13. Write the following as a single logarithm:


a. 
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b. 
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14. Write the following in terms of logarithms of x, y, and z:


a. 
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b. 
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15. Find the domain of the following functions:


a. 
[image: image19.wmf])

3

2

(

log

2

5

)

(

8

-

-

=

x

x

f




b. 
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